11078CHOT

HH= Y (Sets)

s*In these days of conflict between ancient and modern studies; there
must purely be something to be said for a study which did not
begin with Pythagoras and will not end with Einstein; but

is the oldest and the youngest — G.H.HARDY <*

1.1 Q{ﬁEFI(Introduction)
TAE THT H U oF ST W OWHead i URehedHl
R T| Al T8 IR 1 FART 70T kT Tr=T: Heft
SEEti W B €1 S o1 YA Gt Te el shi qrei
T o fau feran St @1 i, ST, WiikeRar e o
T H T o I k1 STEYIhdl TSdl B

=g fagia &1 fas™ s+ s Georg Cantor
(1845-1918) B foha T oMl reptoTfcita Soft o g9t ot
WA hd T IR T=ad ¥ Teall aR IR=d gaT o1l 39
dAT W TH T ¥ FAld F© gergd uRamwet 3R Georg Cantor
R SR SRMGUE. (1845-1918 A.D.)

1.2 99" 3R 39ehT Tgur (Sets and their Representations)
feh Sfter § & agul aEq3l o WUE Il G €, S q9 Bl TEE!, AT Hi
Wi, Frhe I onif) T § o W fafee wuel, 3 W= W ¥ seend, wg
qemeT &1 G fagsll o1 §ug, 319y "enst &1 §ug onfs) foveq:, v0 ffafea
g W foem &3

() 10 ¥ %0 faumm whd HeAw, 3iq 1, 3,5, 7, 9

(i) 9Rd ® AfET,

(1ii) mm%w,w,a,aio,u,

(iv) fafs= gRr & g,
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(v) FE 210 o 9T PHEEE, 1AM, 2, 3, 5 q°A1 7,

(vi) FHRIT x2—S5x+ 6=0,%F T G, 2 T 3

T8l &1 I 3Ed § o Swdad yoid Sl ® o awgel 1 U guRenfid wue
79 o1ef ¥ ® T fordht og o Gaw o g9 g fofa ffyea &9 4 o 9o € fF 9w 9
Teh USd GUE W € S1el el €| SE: B9 e fi¥ed ®9 ° %8 Heahd @ T fa
T, IRa &1 A ok e | T T gHen fawdid v A 3w guw o ffvuaew 9 2

&0 e UH e o 9 3R ST 3 ®© €, fen vam it o fage 9
o S @

N : Uihd SEsll &1 9q=ad

Z : Uikl 1 T=aA

Q : IREa Hemed &1 9g=d

R : Irdfas GEstl &1 9ead

Z+ : 97 qUIehl 1 G

Q+: 7 IREd e 1 9=

R*: ¥ Ifaeh G&AsT &1 T=ad

3 foavm ==t & fau fruffa Swfed gdiel &1 & g9 39 g5 ° fRa@
FH @

Tqh Afdafiea fava & dia gt foeamd o %1 90 T guiig ag==a
T €, e Faifue faed st o fvfa s %1 Auke T At O g At
o fou fa=i-fa=t & genar @1 31@: 98 T guiwie §ue e 2

37d: ‘aEgetl o GURWId GUg’ i g9 Uk TY=99 wed ¢| F8 W g5 ffafed

() Tg= & fau oeql, sfoe qo 9ew el 98 €

(i) T7=@ H gE: FUS guiHen % 92 e @ fef| #W ©,

S A,B,C, X, Y, Z &g

(iii) TS ok STeFel 1 SAUSH UM % SIS AW g SR wd €, 94 4,

b,c,x,y,z@lﬁ;‘(

I o, TY=ET A1 Teh 31999 €, O 0 Hed € 1 ‘g T=ad A | ®'| ey
‘m%"m%’m‘ﬁ%’aﬁwaﬂﬁ@mwm“e(epsilon)”?ﬂ‘;l'aﬁ"'l
fopan ST 81 o1d: B9 ‘ae A’ fomd ®1 A b, G=EE AT 31@Fd T ®, 9 W b
¢ A fored B et 28 “pag=a A & ® Td 2

39 YR ST U oF WRi o 9H=ad Vo g B ge VIighg be V. 36
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YR H&A 30 o 9T UGSl o "=ad P& fau, 3¢ P fohg 15¢ P.

@

foreht oo 1 frefod &5 &1 3 fafuel 2

(i) U= I 9Rvfies &Y
(i) TH==a fmin §9

U &9 H, gY=d o Gft fgal bl Yoag fhan S €, sToa *l, T W

q, ard-form g0 g foFan S @ @R 39 Gt 1 U Hed Hiew & Hw

forad 1 Sarwone, 7 9 w8 weft g9 o= quiichl o e 1 9uiq I T H

{2, 4,6} 51 foran S 21 fordt o=e 1 WX &9 ¥ wefifa 1 & § iR

(a) FEA 42 w1 famfsa & a9 YTpd G@Aet w1 9qead
{1,2,3,6,7,14,21,42} &I

(b) s avtaren o Wt R W W= {q, ¢, i, 0, u} €

(c) Toom wrepd wemsti o1 aq==d {1,3,5,...} §| 3fd & fag, it wen aF
Tt €, I8 Saed § R 3 faun wemet w1 g siade

e FIT & IR T F Fogal H GAlag HH | h HH F1 Hed T B 21 T

YehR SYge W=Ed i {1,3,7,21,2,6, 14, 42}9%R f q=f¥ia X Tehd

¢ I TG =feT o W= i It w6 ¥ forad T e oo
1 GHE: N T o €, terfd, e steEd g 9 e g 21 e ok
faw wi=x  ‘SCHOOL’ ® Woeri 31eRi =1 @q==™ { S, C, H, O, L} @

(i) T frefor v H, foredt wq=ag % qeft srEgel | uw gefts o g @ S

T | IR o fhHl saad | &l g1 ¥ S Y= {q, ¢, i, 0, u}
it eraal ¥ weh Tefee ured € fF 3T 9 ek Stedd ST afren 1w
TR § SR 3H UH ol g 3 JeR 6 2

30 W==d & V ¥ Tefid & gy ed foad @ o,

V = {x : x 3USH oofHTeT 1 TH @R g}

Tl &AM < e foh foredl Tee o sraeal 1 9 S o faT ew el

T WA A €, (o T W R o= Welteh b1 off WA TR ST Wkl €, S, 218K
y, z @fR1) fSraer SWia e &1 fag " foed 21 #ied & fag & 9% 9ge=a &
el o fafere oo i forad € SR R Hqol e i Heel s { ) % fiw
forEd €| T==a Vo S v o fefeiad bR 9 uel Sl 2wl x o gy
STl x ST Soferen 1 Tk R #1”
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79 i | g 1 WA ‘gt x 1 qgeaa” & T iR e w1 g f Sl
x' o forg fean sian 21 < o fog
A= {x:xTh Uhd H& ® 3R 3<x< 10} i Frafafead 7R 9 9ed € -
‘et x 1 T, SRl x T Wihd &A1 ® SR 1,3 3R 10 o= H 21 o1 g
45678 3R 9 TH=T A ok 1EFd B

7fE B SR (), (b) AR (¢) § WX &9 ¥ afvla qqe=ai &l H0: A, B, C ¥ Fehe
#X, dl A, B SR C ! qgeaa frofor w9 o, frefefaa wevr @ of fefud faran s g
2l

A= {x:x T Wihd H&A1 € S & 42 i fawifea st 2)

B ={y:y 3{USil oofHmen %1 T =R T}

C={z:7 T fawm Wipd G&A T}

SETETOT 1 HHHT 2+ x — 2 = 0 1 & =g W= &9 ¥ fafau)

T Yed WHRLUl 39 YhR feran S Gkl ©,
(x—1) (x+2)=0, 34 x=1,-2

Id: e THIHIU 1 Bl HEEd URH ®U § W YHR for@r ST wehar € {1, - 2).
SETETUT 2 W= {x: x Tk ¥F U B 3R a2 <40} 1 WX w9 | faf@my

&1 1,2,3,4,5, 3R 6 o gl €1 e (1,2,3,4,5,6) &0 99 & I &Y 2

SETET0T 39g=d A={1,4,9,16,25,...}) & Gz i ¥q ¥ faf@u)

T HYeEd Al B9 39 YR for@ wehd €,
A:{x:x'@?mmwaﬁ%}

forsheTd: &9 30 yhR o for@ g ¢,

A={x:x=n2,5|ﬁne N}
SETE0T 4 Y= {%%,%,%,%,g}ﬁﬂaﬁmﬁﬂhmﬁﬁf@m
&1 B9 @A ® fop f&U U Wyeem o Yekeh ST 1 3991 SHeh e W | %W Tl T
off fop 319 G Wihd W@ € S 1 W URW TRl SRR Tk 9 Aty el St @
R 6 9 Ifer T 21 ora: Ggeea i w9 A 3@ 39 R foad €,

{x.‘x=n?_1,n,QT>FBI'IT{:'_dH;@IT% IR 1Sn£6}
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TETETOT 5978 AR U= &9 H Fi0id Yieh TH=a4 1 35 3R F=a4 FHi0 &9 H afvfq

Y=g § Tl faam wife:
() {PRILN,C,A, L} (a) {x:xTh & qulih & 1 18 1 Wk T}
() {0} (b) {x:xTH qulish € SN x2—9 =0}
Gi) {1,2,3,6,9,18} (¢) {x:xTk Yol & 3R x+1=1}
(iv) {3,-3} (d) {x:x ¥ PRINCIPAL &1 TH 3R )

&l dfh (d) H, w155 PRINCIPALH 9 318X € 3R < 27eR P 3R [ i TR €8 €,
34: (i) 1 G THAM (@) © B 21 36 TR (i) 1 G fHAH (0) ¥ B 2, it
x+1=1®Hacd g x=0 a8 df 5, 1,2,3,6,9 3T 18 § & g% 18 &I
STk ¥, SAMAT (iii) H1 T A (a) T 2 81 370 H 22— 9=0 3 x=3,-3 3R
TafeTy (iv) 1 Tl faem () @ Bia B

gyAraet 1.1

1. frefofea § w8 @ @g==a €2 $91 3 1 Sifae FaEu
(i) J 3R ¥ YRY BH ot 99 oF |t HEH 1 |
(i) 9Rd o W Fod 31fuer gfaamemelt ol 1 9Ug|
(iii) fova & TEIS TRE oAl w1 TUGI
(iv) STYHT el o Gt aTctehl 1 G|
(v) 100 § Y9 9 Urehd & h1 GUL|
(vi) TE® YHER gN fafed Su=mdl &1 9ugl
(vii) |t F9 qUiishl 1 FIEI
(vii) 39 A H M At YA 1 IR
(ix) fava o wed 3ifies @awaTh SFeRl &1 TUg|
2. WA ST A={l,2,3,4,5 6}, Rad T ¥ UG Udieh e 1@l ¢ Rl
i 5...A (i) 8...A (i) 0...A
(iv) 4...A v) 2...A vi) 10...A
3. TAfafea aq==ei & =X ®9 9 fafau:
() A={x:xT& guid & 3R 3<x<7}
(i) B={x:xT&M 6§ %Y Th Uhd T& B}
(iii)y C={x:x3 3l B TH Wpa W& T foaF 3 F ATHA 8 T)
(iv) D={x:xTh 9T T 2 Sl G& 60 H1 ASF ¢}
(v) E =TRIGONOMETRY ¥1& o |t 21&Rl &1 T
(vi) F=BETTER ¥I&% o A+ 31 &1 A==
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4. TAfafed aq=== o1 9q==d i 9 § =@ sifag:
1 @(3,6,9,12} (i) {2.4,8,16,32} @) {5,25,125,625}
@iv) {2,4,6,...} v) {1,4,9,...,100}
5. fy=fafad sg==aa o 9ft ol (F=0) & Yiag S
() A={x:xTh faom Wrpa HeT1 B}

(i) B={x:xTH gl 2, —%<x<%}

(i) C={x:xTH qulieh B, x> <4}
(iv) D={x:x LOYAL Y= &1 T &R B}
(v) E={x:xad & % w@ 9 7, fome 31 fam =) e @)
(vi) F={x:x US o0famel o1 Tk oFsH €, Sl kW 98l 30l 2}
6. T 3R IR ® H forfaa iR < A wqeaa i &9 § afvfa g o g
ﬁlﬂ'l’*lﬁlﬁ'rﬁ'lz

G {1,2,3,6} (a) {x:x T 19T G & 3 6 1 Wi ¢}
Gi) (2,3} (b) {x:xTEA10 ¥ *HH Th fawn qepa Ge& &)
i) {MATHELCS} (c) {x:xT% Wihd & & 3 6 i W 2}
Gv) {1,3,5,7,9} (d) {x:x MATHEMATICS ¥i= &1 T 37&X &}

1.3 == AH=d (The Empty Set)
eI A= { x: x FRdl That 1 wen XIH ereaa U famneff € )

B9 3H TR H S R e X1 H TeHaa faenfe & fim o 3T gen 9a
FX Hohd B T: GYEI A o EFedl &1 Ge dibd 2l

3@ = fa@ == B W fo=r sifvw:

B={x:xod9H § wan X a XIS § Feaaaa famneft §)

&1 2@ € foh ek forenedl Wb wrer < sheneti X qen X1 W e1eAe el Y Gehdl
21 o: gy==a B H &1 f srere Tl 2

aftarer 1 Tk g s weh st s T g ?, Rem a1 9 e
FHEA €| T8 TR o STHR B Uk R qqead € 5 & A & o gq=ag e
2 o wq=ag &1 ydies ¢ twen { ) 4 weRfd @ 2
& Ao o Tl & B9 SIE ] ®
() WF AT fF A={x:1<x<2, xT& Tha & 8} A e aqe=a
2, FifF 1 3R 2 o "eA HIE Wehd G T Bl 2
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() B={x:x—2=083W x Tk IR0 G& 8}, 981 B Roa wgeed 7, s Tt
¥-2=0, x & fRE & ofe 79 § G2 & 2 R

(i) C={x:xT@M 2 ¥ ek T 99 99 T ) @ C e aq==4 2,
Fiifeh oharel T 2 & TH A9T HeAl 2

(iv) D={x:2=4, xfaum 2). @ D o wy==a B, #ifd wfiew
x2=4,x$wmqﬁ@wqﬁm%|

1.4 uftfaa it orufifa @q==ra (Finite and Infinite Sets)

" wifse ff A={1,2,3,4,5)}, B=1{a bcde g
e C = { 30 un favg o fafa= vl § @A ae gev)
TH WA ¢ fh A 537078 € IR BH 6 3fo@d €1 C ¥ fohad ofoge €2 S for oy
2 % C o orogal =t e o 91 T T, fhg 9% Tk Wiehd wew §, S 9gd a€
g Gl 21 Rl ggeea S o oremdl i HEm W wER Aty gyeeE o fae
@l @M 9 € 3R 38 B Wdleh n (S) N WS i €1 A€ n (S) T Hehd
e €, df S Uw onfied aRifaa "y e 2

HET WIehd @A o Fg==d N W fa=m =i 89 2@d € 56 qq==4 o ragel
1 G Hiftha el 8, it qrehd SEemsl w1 ge SEiiid el €1 39 bR g9 Hed
& fop Wieha Wemel &1 e Uw orufifia Weed el §1 SUgsd e A, B A
C ufifird T ® 3R n(A) =5, n(B) = 5 3R n(C) = %2 Hit ge

aftrer 2 U e, S R © ereren frwer sl i wen Fivea g §, uRfia
TH=g HEAM T, I Y=g AGNTHa e Feard 2

3T FHB I[EON W fo=m &l

() afc W awe o &l o1 ggead ©, @ W akfid 2l

(i) HH ifSIT foF S, THROT x2—16 =0 o Bell &1 Tq==d 8, al S IRfHa 2

(i) AF offsu fF G, frdt Y@ w feom @t foged =1 @q==a 2, @ G

Irafifi 2

o &H et T o U w9 ° fefid w5 €, a9 e 59 gq=ag & 9
el i wiew { )} o iR fomd € e eritfia wqeaa o Wt sl Wi
HIch { )} oh Wi fora dua &l €, i TH T o ragel i we wifhd
&l Bt 21 37d: eH Tret SraRfd T 1 YR &9 ° Yehe i o foIT 3&@eh A
Y Y g4 fedl @i forad B, foag S§ 9= &1 GtE T 8 Hoh 3 qaiad
& foig @ 2

IR, {1,2,3 ...} Wibd Wt #1 9= €, {1,3,5,7, ...} o wea
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st w1 9= © SR {...-3,-2,-1,0,1,2,3,...} qUlishl = G==d 21 A Gt
T IR B
@ oot | |t STafife T 1 v Ak w9 H T R S el €1 ST
o eI aredferss H@metl o TH=ad 19U 36 &9 § &l fha <1 Wehel €, Fifh
T4 Y= o Fagel 1 HiE fouig Yo (wfawe) e g 2
SETETT 6 adeTEn fF FrefefEd agsE § w Ui § ek e smRfm d
() {x:xe N3 (x-1) (x-2)=0}
(i) {x:xe N3 =4}
(i) {x:xe N3 2x-1=0)}
(iv) {x:xe N3IR x Th 39T G&1 T}
V) {x:xeN?:ﬁ'{xT%TGP:l%}
g () W W = {1, 2}. o ¥€ IRfa @
(i) WEO =T = {2}. 31d: F€ i B
(i) WET T = ¢. 3T TE URiHA B
(iv) Tea gon wq==g |eft A9 TEmsl s gy € I it AT Hemsi
o1 eI 34 €; o1d: Yo Head STuiid B
(v) iR foom qrepd Heard ed €, 31d: 9S9 9q=ad STqfhd 2|

1.5 WA "9==d (Equal Sets)
T fRu MU wg==El A @R B, H, A A 1 I 9@d B 1 o 319@d € qe1 B
Tk STaTd A w1 ot 3eEd €, d Ugeea A 3R B, GHM hedd &1 Tseddn <Hi
Tl § qed: W SEgd B 8l
aftarer 3 T geIa A 3R B UUF dedl €, A% SIH dedd: §HM oEdd g
3R &4 for@d € A = B, 3791 G=a 1AM Fead ¢ IR ed forad € A#B.
3MeT B ffafed el | fa=ur =i
() oM eifse fm A={1,2,3,4} 3B ={3,1,4,2}. 1 A=B.
(i) T ffee fod A, 6 § &0 A9 F&AsT a9 P, 30 o 19T [UHES] oh
e €1 e § b wqeea A 3R PEAE €, it ohed 2, 3 3R 5 €
TEA 30 & AYA [UES € SR 6 ¥ HH off 2
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afe et T % Tk A T W Ak sTeEel S TRER et g,
e SEedl Tel €1 SEel o Ty wesd A= {1,2,3} @R B={2,2,1,3,3} T°H
g, Fiifeh A1 Yoieh 31a9d B H © 3R gHen faeim off 9 21 36t R 29 ;- feredt
T 1 UM HId EI SEeh el 1 TGN Tl A 2

SETETUT 7 WM WAl o I Bifey, Ak T K I T, o wRO St aqarnu:
A=1{0}, B={x:x>153 x<5},
C={x:x-5=01}, D= {x:x2=25},

E={x:x W0 x2—2x—15=07FH Tk &7 qUlishs T ).

T T8 0e AR 09 == B, C, D 3R E, ® ® foell  off 7 €, 31: A#B,

A#C,A=D,A#E.

Fifeh B = ¢ fobq IR &g g==a o &1 21

3q: B=C,B#Ddd B =E.

C={5) W -5e D,zqf@T C#D

78l ifeh E=({5},C=E,D={-5,5} 3R E={5},3@:D=E.

TH YR GHHE GE=Al 61 I ohad C 9l E 7|

SETETT 8 TeAfelEd Seed I W W A W WHE €2 S SW o A Sy
(i) X, “ALLOY” % 31&R| 1 §H==d a2 B, & “LOYAL” & 31&R &1

=4I
(i) A= {n:neZdM <4} 3 B={x:xe RAA - 3x+2=0}.

g1 () = X={A,L,L,0,Y},B={L,0,Y,A,L}.3@: X 3R BEH qq==d
g, iifr foreht gy=e o Sforel &1 AU o W= aeerdl Tel 8l 37d:
X={A,L,0,Y}=B
(i) A={-2,-1,0,1,2}, B={1,2}. %% 0c AR 0 ¢ B, TafcTq A3 B
TuH Tl €l

gyt 1.2

1. frefafea & 9 =F o o aq==a & S €2
() 2 9 93 fawm grehd Wemst 1 gy
(i) TW AT &S ®1 Tl
(i) { x:xTH Whd T T, x <5 T & 9 x> 7 }
(iv) {y.'yﬁﬁ?“ﬂﬁ@ﬁ?i@ﬁwgmﬁ%ﬁg%}
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1.6

Tfora

frefefad wqeeal & 9 %F aifi 3k ®F efifig 82
(i) 9 o HEHI 1 G =aA|

(i {1,2,3,...}

i) {1,2,3,...99,100}

(iv) 100 ¥ S ¥ Uliehl 1 F==d|

(v) 99 | B AYSH YT 1 T

e e o ° e o forg sarey o o aRifid € iR M emifg 82
(i) x-378 o HHIR W@stl &1 ==l

(i) TS FoidTen o 1Rl w1 Y=

(i) =9 GEmet w1 gg=E S 5 o [N

(iv) gt W @A a6l S 1 el

(v) 7a 63 (0,0) ¥ 8 R I ad gl Tl
fefefaa § aqemse fF A=B ¢ @i &l e

1 A={ab,c,d} B={d, c,b,a}
(i) A={4,8,12,16} B=1{8,4,16, 18}
(i) A={2,4,6,8,10} B={x:xTH &7 qlish ¥ 3 x< 10}

(iv) A={x:xTE 10 &1 Th TN 2}, B = { 10, 15, 20, 25, 30, ... }

711 Frefefad gqeea g gaE €2 SR 9fed SaRul

(i) A={2,3], B= {x:xTHHW &2+ 5x+6 =07 Th 8l 2}

i) A={x:x3 FOLLOW I T & &)
B={y:y¥s= ‘WOLF I T& 37N 2}

= QU gU o=l ° 9 99M Sedl 1 99 Shifad:

A={2,4,8,12}, B={1,2,3,4}), C={4,812,14}, D={3,1,4,2),

E={-1,1}, F=1{0,al, G=1{1,-1}, H={0,1}

SUageed (Subsets)
e e ==l W fo=R #ife:
X = oTen foeme™ o st foenfef= &1 aq==a,
Y = STaht el oF gt fanfe w1 el
T 2@d ¢ T Y 1 Godsh 3fee, X o1 ot Uk 37agel €, 89 hed € 16 Y, X

TF SIS § X F1 U STHIET ¢, WA § X C Y 5N T FW | Wi o, Fo
‘T ST ¢, e sfafae ®' o forw yge g 2l
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ufterer 4 afk =g A 1 Y% S9gd, 9Y=9d B &1 i Tk f9@d €, df A, B
SUHTET FHEa
T IR H, ACB, IR 5@ &Ff ae A, T ac B. Ig1 Tdlsh ‘=, i@ o7ef
‘qred ©' B ], 1 A gaurees el §1 39 Yol 1 AN Y ok, B9 SUgq=d
%1 R 9 YhR fow g B
AcB, At ace A=acB
T USRI A 1 3H THE UGd B, “A, B 1 T IUET= B, A 5@ qe I,
o a, A T 2fo9d ¢ a9 © T ¢, BT Wt ©& 3@@e 271 9 A, B %1 T
Ioeed 7 €, o g9 fored € TR Az B |
Tl e <1 =eT foh Al B, %1 G=0 € oh faiu chelel W T AEYTE ©
fF A1 Yeieh ofo@d B o B1 98 H9d € o B o1 Yo e@dd A | ® A1 A ®l| A
U1 Bl € T B o1 Ucieh 3197 A | oft 8, @l BC A 39 391 H, A 3R B 90 U=
g &R 39 Tl A C B 3R B c A(:)A=B,Tf|%5f ‘o' fgur ard (two way
implications) % ToTq Weiteh © @R 518 W ‘Afg @I sheet afE’ ed & qon S § “iff’
o 2l
R ¥ frwd fverar @ fF 99w 9Ussa wEn #1 SuOgsEd €, efeiq
Ac A | S Reoa g o § 1 7age T el § of: g9 39 o1d ¥ Wewd § b
¢ Y TSI h1 Uk SUHYTEd g1 976 g4 |9 STl W fTER #d T
() URTa st &1 9q==ag Q, ardias dedsll o WH==d R &1 TH
IuE=Eg © 3R g9 faed € fF Q < R.
(i) A A, TEA 56 % WA ISR 1 = B IR B, W& 56 o G 94
ST o1 = €, @ B, A 1 Th SUHT=SA € 3R & fored € 6 B
c A.
(i) A ST o A={1,3,5} 3R B={x:xT &N 6 § %7 T faud qreha
e B} A AcB A BCA,3W: A=B
(iv) A AT & A={a e i o u} 3R B={a b c d}.d A BH &
Sugges e ® a1 B ot A1 SuEq=g e 2
M oifee f&F A 3R B 9g=sg 1 Ak AcBdem A=B,df A, B &1 Sfera
SUHTETE FEA € 3K B, A 1 ATATeed sealrdl g1 3areoned
A={1,2,3},B={1,2,3,4} 1 T&H Sfud Suqg==d 2|
Ift g==a AH Sadl T 7999 @, 9 0 38 TF Uehel Ao Fed &1 37a:
{a) T THA T T
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SR 9 e fow TeEl W faeR S
o,A={1,3}, B={1,59}, C={1,3,5,7,9}.
Y% FH=Id I oh o9 HWal Jdieh C Al ¢ 9RY;
(i) ¢...B () A...B i) A...C (v) B...C

1 () ¢cB, e ¢ ToH TH=IT H1 STEH=T el 8
(i) AzB™ifh 3 A3 3¢ B
(i) AcC™ife 1,3 AT 1,3€e C
(iv) B cC Fifh B &1 i 3@ga C § off 21

FETEYOT 10 9H ST A={a, e, i,0,u},B={a b, c, d}. 1 A, BH Tk STIH==d
22 T8 (F?)| F A, B U q=A &2 Tl (F?)

SEEI0T 11 HE ofST A, B 3iR C i 9g==a €1 9 Ae BN B < C, df &1 48
T ? fF AcC? aft 7 @ wh S difsy)

T 9 oitew fF A= {1}, B = {{l1}, 2} 3R C = ({1}, 2, 3} Er=aa Tel
Aec BHifh A={1)dM BcC ¥A 81 Wg A CHifw 1e AR 1¢ C.

e HIfST o Tl T=e &1 T 3199d SH G99 1 STGH=9d &l 8 Hehdl 2|

1.6.1 artasw T&Iel & Y=g & Iuaged

S o SR 1.6 W T 2ial @ o Ug=ea R o 9gd | Hewqul sudq=ad €1 3
T F9 & I 79 A= T ® €
Ihd &l 1 W= N ={1,2,3,4,5,...}

qUifehl T T Z={...,-3,-2,-1,0,1,2,3,.. .}

qReT Fenst &1 ag=ad Q={x:x=§,p,qe 770 g0}, TSt 5@

“Qﬁﬂ%ﬂﬂ@aﬁxwwww%ﬁﬁxﬂmg,a%w%,aﬁpaﬁi

T % SR g7 T R QF st H s (R —? G0 e

%),3,3% ﬁ@%@%ﬂu‘@ﬁmmm%) sin —1—31 .
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gg=a 13

st wenst 1 g, f5 T, @ frefua & €, 99 o arsdfas genet (afiea
et &l BEwt) U et s ar 2

3d: T={x: xe R3Mxe Q} =R-Q 7 o qsft arfas Head s i
TR T & W ¥ [ ,5 R oenfk wfmied )

T W=l o T D W FaY 39 TN

NcZcQQcR TcR NgT.

1.6.2 37T R & SUGH==T o &Y U (Interval as subsets of R) WF ST fw
a,be R3R a < b. T ar&dfern GEAst 1 G=99 {y:a<y<b) T Toga e
FEA & 3R TdAF (a, b) R FEAT B Bl ¢ 3R bk <t feorg geft foig 59 fawa
T T § W ¢ 3R b 39 FRA § T e 2l

I e o of@ fog off 3 € ¥9d (S]) ofa wead € iR Ui
[a b] 59 f&fud & 21 8@: [a, b]={x:a<x<b}

T e & S Tk 3 g WA 3R R W g B

[a,b)={x:a<x<b},a¥ b T Tk el A ¢, TH ¢ fafde € fohg b
qafsid 2|

(abl={x:a<x< b}a¥ b % Th Qo e g, foad p @finfea 2 g
amﬁﬁél

T Tohdl GRI ATfas WEAsT o U=ad o IUHH=adl oh Socid Hhid &l Th
depfeuss fafy fierdt €1 S & fog, af A=(-3,5) 3R B=[-7,9],d AcB.
TH=I [ 0, oo) UG STEAfh TN & GHSaT I <Al B, Al (- o0, 0 ) I
i TS % GHIA I SU Bl (— o0, 00 ), —c0 T oo Tk foEgd @1 I
Geiferd aTedfees HEASl o WHeed Sl WSl il 2

Irfaeh W@ W R o ITH=adl o €9 § dfvid ITde Aauel ol 3Tehid 1.1
ﬁ'@ﬁmw%z

(a,b) [a,b] [a,b) (a,b]

O O @ @ @ O O @

a b a b a b a b
3TTeRfd 1.1

Tel &1 oM < € TR U ofwa o o o™ wen W e fag el €
IO, =ad HH=d {x:xe€ R:—5<x<7} &A@ (-5,7] €9 ° for@ "
& 1 A [-3, 5) i e T 9 H {x:-3< x< 5} 5 for@ "R €1 wem
(b —a) & T (q, b), [a, bl, [a, b) TN (a, b] § & fopet &1 ot oS wed B
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1.7 =1d 9q==1a (Power Set)

== {1, 2} W four 6w aq=== {1, 2} o 9 Seg==at &t fafau) o
@ 2 fF o 9ft Tt &1 U w1 §1 st ¢, 9= {1, 2} W Th
ITEA=T 81 TH @A ® T (1) X {2} off wyeea {1, 2} SUeg=ad €1 ed
7g ot 71 € foh T W= W 1 SUNH=Ed gl ¥ Wiy { 1,2 } ot "
(1,2} 1 Us STGH=IT §| o7d: GO=a { 1,2 } o &l fHel w9 STaq==d ¥,
A o, {1}, {2} 3R (1,2}, 37 @ft SUGH=aAl o q=ad & e { 1,2 )
T T Ao FEd T

TR 5 =TT A S SUHY=AEl o TIE %I A % UTd A HEd 21 39 P(A)
Y Fr&fd wtd B P(A) 1 e 31add T 9=ad gl ¢l
31d: SuYed oo #, afg A= (1,2},
P(A)={o{1 L {2}L{12}}
78 ot AT FNC R n[P(A)]=4=22
IHET W, I A TH T Gg==9 € fF n(A) =m, @ I8 fag fen s g
g n[PA)]=2"

1.8 wrdfieh =g (Universal Set)
g fondt foeie deed o w0 U MR Gq=E & Sfagel SR STEH=aEl R foeER
T gl €, S fop 5@ fowiw weef o wrfien g €1 S<e & fau, gen-yonedt
AT HTd THI TH Wiehd HEel & qead 3R SUeh SuHq=aal ¥ &4 el €, 59
YT HEsTl 1 TH=I, TH HEAsll 1 U9 S| I8 SMHRYd H=o ' WrdtIeh
TeerE’ el 21 et qead i 9Ea: Wik U el wd © SR 36
U=l Hl &R A, B, C, < g

IR, qUTiehi oh W= Z o foe, 9w Sensti &1 9= Q, Ush wrEiAsh
e B Gehdl €, A1 IRt GeAel &1 Ggesd R W Uk WrefAn qeed g Gehdl
21 T 1 S § WM SHEEA AT o foq fova o Hued Wee sl gy,
qrafas TH=ad gl

gyt 1.3

1. o ToHl ¥ it A ¢ & W H TE HA TART:
i {2,3,4}...{1,2,3,45} G {abc}...{bcd)}
(i) {x:x 3ok Tommer™ i e X1 Wb faeneff €). . {x: x 3ues faeme™ =1
wF famneff 2)
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(iv) {x:x Tore woae o food wh 99 2} .. . {x:x (% G99 G9q § 99 ©
et B 1 3 21)
(v) {x:x e wmaa o oo wh B9S B} ... {x:x Tl wmaw o o wh
e §)
(vi) {x:x Toreht woaer o frora U wmarg B B ... (o x ToRet wuae o feem
T e 7)
(vi) {x:x T TH qhd W& ) ... {x:x TH qUih B}
. Siiferg fo fefafEaa wem oo © SAuen e €
@O {ab}yz{bcal
(i) {ae}c{x:xs SUMHERT H TH @R )
Gi) {1,2,3}c{1,3,5)
i) {a} < {a b c}
v) {a} €{abc}
(vi) {x:xﬂ@T6ﬁW@FWWE@T%}C{x:x@FWG@I%,
S GE 36 Wi fawiied ot 7}
. O ST R A={1,2,{3,4},5} | frfafad § 9 ®F @ %ue w@ e R
R Fi?

(i) {3.4}cA (i) {3,4}eA (i) {{3,4}}cA
(iv) 1e A (v) 1cA®Xi) {1,2,5}cA
(vii) {1,2,5}e A (vii) {1,2,3}cA
(ix) o€ A (x) ¢ A x) {¢}c A
. freafatea aq==ai & af stag=aa fafau:
(i {a} (i) {a, b} @) {1,2,3} (V)¢

5. P(A) o fohaa seme €, afE A= ¢?
6. frafafea =t siqua &9 o fafau:

1 {x:xeR,-4<x<6} @ {x:xe R, -12<x<-10}
@) {x:xe R, 0<x<7} @iv) {x:xe R,3<x<4}

. fr=fafed sfauet & aq==a fmi w1 ¥ fafau:
®» 3,0 @ [6,12] @@ (6,12]  Gv) [-23,5)

. Trafafad o 9 yoie o T o &iFA-w Wb Sqeed yEifad Hl?
(i) THHIT FAsi &1 == (i) wwfgarg s @1 ag==a|
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9. "E=A A={1,3,5},B={2,4,6} 3R C={0,2,4,6,8} Y & 3 i Tq==4
A, B3R C o foru frefafad & @ w8 @ (W) 96l gq==g fag s asd 82
(i {0,1,2,3,4,5,6} i) o
Gi) {0,1,2,34,5,6,7.8.9,10} (v) (1,234,568}
1.9 39 3@ (Venn Diagrams)
Tl o S AR weel 1 sl gR1 Frefud fRa S wwhar @ 9= 9O ema
hed &1 9 ST 1 A 31U T John Venn (1834 Fo— 1883 %) o M8 W @l
T 21 37 SN W S SR €% ok WHEG: o9 Bid ¢ el Wieten ST il W
T A 5 3N SHeh SUEH=EAl i U g9 gl YEid i 2l
ot o sTR@ o Tl o STadl i Sk foey g o o s @ o
aMepfa 1.2 3R 1.3 °
U

U
o] o]
5
o9 *9

3R 1.3
geid 1 At 128, U={1,2,3, ..., 10} T G qq==d € 3R A= {2.4,6,8,10}
I Th STHI=E €,
Tl 2 IR 137, U={1,2,3,..., 10} T Gl gq==a 2, foraer A={2,4,6,8,10}
3R B = {4, 6} STT=E & 3 B CA.

IS oA TRl T faegd T ST < g1 qyeal o i, Fafs iR 3R
R fo=amr &3
1.10 9==rEi U |ishard (Operations on Sets)
feell el o en dia ek € foF St W A, sfay, o SR 9 i wieard e
YRR GO 1 St &1 370 ¥ Yeeh ke &l & Hemsdl W ga= foman @ o, e
Tk o1 T I g2 ot 310l o fau 9 gemet 5 SR 13 W AN i Gfwar go
FH 9 e Fe 18 U Bl @1 O Femsd 5 iR 13 W U &1 Gfiear o &
W EH W 65 U Bt 21 3 bR, e U whiward €, foaet € wges W Hu
FH 9, Tk 3 GH=Id o 91 21 36 B9 Headl R e drell g Gimast ®i
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aRefrg 3 3R S TUrEl 1 St w1 Jel W In B9 Sl 1 Sooid faRd
HEfh TH=ad o SYOgadl o €9 ° H|

1.10.1 @g=erdl & GerT (Union of sets) B oifST fF A 3R B % & =4
g1 A 3R B o1 Uftwer o8 9q==a € Ted A o @ft ofeel o @el B o off weft
7T B, A ITATSS 2TaFdl Sl hael Teh IR o T 811 Uelteh ‘U’ o1 T4 FiHem
i Teftd = o fau foran San 81 Ydirreqss &9 | 89 A U B fored ® 3R 39 ‘A
gfiwe B’ 9ed Bl

SEETOT 12 A ST fo A={2,4,6,8} 3 B=1{6,8,10,12}). AU B @ HifsT
T B IEE S T AUB ={2,4,6,8, 10,12}

e HifT fF A U B foEd 999 SwafTs 3999 6 3R 8§ &I ohod Th ax
fered 2

SEETOT 139 AT fF A={a e iou) 3R B={qiu} I H
AUB=A.

T WAAMAUB={qa¢ 10 u}=A.
79 ST @ W gl © T R wgeea A o SEe SUEHead B W
aftge Tq=a9 A @ gia1 2, 3tefq afs B A, @ AUB=A.

IETE0T 14 A efee ff X = (Im, Tidr, 3/heR) sel X1 o faenfef=i &1 s fasmes
1 TR AW T T, Th g=ad 81 9 oitee R Y = (T, Sfae, el wen X1
faranfefai =1, it fammera =t wea dW ® ®, tw 9geed §1 X U 'Y 91 HifSe iR 3
=93 i A HIfSU

T T X UY = (W, W, ThR, efde, o). I wem X1 39 fomnfefai =
e B, S A1l T i ekt S ® A1 e | | € A < S | R
3d: TH < HeEAl o GiHe %1 qRE 39 YRR Y Fehd €
TRt 6 < HYEEAl A SR B W WitHe qq=ad, o8 qq==d § foed o guft eee
TRAMAAFTHB AT (37 erewal 1 wiwferd [
T4 TS A | €) | Telishereh &9 | 89 fored @
ff AUB ={x:xecATxeB } 7l A
= el o Wferer &l eefa 1.4 7 faam
T 3 @ ¥ Wil feman s gk 7 B
MFfa 1.4 W BEATHRT 9 A UB H W=Ria AUB

F 2 aMeRfa 1.4
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AitweT @t |ichaT oF H/B TTUTEH:
i AuUB =BUA (%H fafma f=m)
i) (AUB)UC=AU(BUO)

(@ fam)
(i) AUd=A (qeeweh o, ¢ |ishan U 1 deadeh 31eFd ©)
iv) AUA =A (atam )
vy UUA =U (U =1 f7em)

1.10.2 'FIEW?")‘W T3 (Intersection of sets) =g A 3R B &1 TdfTss 3
gft Tegal 1 ggeEE T, S A SR B <Al H S9EfTs #1 Tl A 1w g
1 frefua 3 & fau e S 21 g==a A 3R B &1 Tdfe 39 @l el o
e 8, S A SR B g | i1 Wdiehredes w9 H 89 fored € T

ANB={x: xe A3 xe B}

SETETUT 15 SR 12 o G==d A 3R B R foR *ifSUl A N B 3@ Hife)

Tl BH @A © T hael 6 3R 8 & UH 37e7d & S A 3R B 31 § Swafts ®1 o1d:
ANB=1{6,8)

SETETUT 16 SR 14 o T=9d X 3R Y W fomr #ifsw X N Y 9@ shifsm)

Tel B9 @A © Sad ‘A’ € Ue TE UE oeEd ©, S M § SvarTs ®1 o
X NY = {3}

FEET0T 17 9 oftee fh A=1{1,2,3,4,5,6,7,8,9,10} IR B=1{2,3,57)
A N B @ HIST 3R 39 YR ff@re % AN B =B.

TABHTEd R fh ANB={2,3,57)=BEA AN ff BCA3INANB=B

it 7 W A 3R B w1 GdtTe S99t srael o1 weed €, S A 3R B i
o &1l wdterreass ®9 H, g9 forad ® f
ANB={x:xe AR xe B} U
Tepfd 1.5 & BEfHd 90, A 3R B & T
1 wefifa e 2 A
Ifg AR BT < 99==4 & fF AN B = ¢,
A A 3R B 3THgH YT hedld 21 SR ok AAB
faq wm ofifst f& A=1{2, 4,6, 8} 3T NS
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B={1,3,57}, @ AR B € gy== 2,
Fifr AR B ¥ % i sage swafs & 2
STHIF T i a1 ARG N F&faa foean s
Gehdl €, ST STl 1.6 | TR 2

=

19

010

STYH 3@ § A R B S8 9= &
wafrs wiwa & &z Tored 3Mepfi 1.6
i AnB =BnNnA (9 fafma fram)
i) (A NB)NC=ANn(BNC) (@ fam)
(i) 0NMA=0,UNA=A (0 3R U = f7zm)|
(iv) AnA=A CUEEREREY!
V) AN(BUC) =(ANB)U(A NC) (faazor =1 s frem)
i  faafa g 8 U ™
T s 99 @l [ 1.7 (1)~(v)] SR 39 91d 1 TWeAdl ¥ @ Fohd T
U U
. )
) (BUC) (iii) (ANB)
U U
0! &
28 A'\
(i) ANBUC) @iv) (ANC)
U

&y

®

(v) (AnB)uU (ANC)

MR aat 1.7 () ¥ (v)
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1.10.3 WW&W{Difference of sets) A=A A 3R B &1 3fa S 3raaat
1 WeE @ S AW € fobg B ® & ®, 99 foF A SR Bl gt %W # fan sy
Tl ®9 39 A-B forad € $iR ¢ A SR B Ted 2

SEETOT 18 U oAt fF A=1{1,2,3,4,56,B={2468} A-B 3R
B — A FId HifST |
T TR MW W % R A-B={1,3,5), i @@d 1,3,5 909 A ©
fohd BY 7 € aen B—A= {8}, Fifer /g9 8, B & & fohg A & &1 21
TSI E fF A-B=B-A
SEETOT 19 AF AT % V={aeiou}d@ B={aiku}, d V-B3R
B - V F1@ &ifST]
Kl qﬁV—B:{e,o},a@ﬁﬁ?W&OHﬁtﬂq U
VH € fohg BH &l & a1 B-V = { k }, Fifeh
o7 kgg=Id BH ® wq V ® Tl 2l
T AR FW L fF V-B2B-V aY=A
fmfor Fohda 1 AN d gL & A=l oh 3IW
1 IR H T TH TFR o T o AB
A-B={x:xe A3 x¢ B}
< W A B % S A S o g HF L8
<1 S ekl © Sl o eMepta 1.8 § WeiRid 2
FElfhd 9 & W= A 3R B @ 3R &l |U B-A
Tt B

fewufl @q=s@ A - B, AN B 3R B - A WER
SR B ¢ otefq T @ et Q wye W |, 4

T =g T fod weIE wa © S f (ANB)
AFfd 1.9 ® yafeid 2 3MeRfer 1.9
1. fr=fafed ¥ ¥ 9% 9q==9 g9 &1 Aied Fd S

() X={1,3,5}, Y ={1,2,3}

@ A=1laeiou}, B={a b c}
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(i) A={x:xTh Wehd G&A & 3R 3 & 0 &}
B={x:x%EM 6 ¥ HH Th Wihd G&A €}

(iv) A={x:xTh Wihd TN 2 3R 1<x<6}
B={x:xTh Wiehd H&A € 3N 6<x< 10}

(v) A={1,2,3},B=0

. AR ST fF A={a b},B= {a b c}.#F AcB?AuUB @ Hifaul

. AR AR B W@ 9g=a & fF AcB, @ AUBFN T ?

. A€ A={1,2,3,4},B=1{3,4,5,6},C=1{5,6,7,8} @I D=1{7,8,9, 10},

fr=fafad 9@ Siftea:

(i) AUB i) AuUC i) BuC (iv) BUD

v) AuBuUC (vij AuBuUD (vi) BuCuD

. T 1 ¥ U yeE 9=ad T F FEqS qYead 914 S

. A A={3,57,9,11},B={7,9,11,13},C={11,13,15}3R D= {15, 17};

fr=fafad 9@ Sifea:

i AnB @ BnmC @) ANCnD
@iv) AnC vy BnD vi) AnBuUCO)
(vi) AnD (viii) AN (B uD) ix) (AnB)n(BuUC)

x) (AuD)N(BuUC)
. qﬁA:{x:x@FWﬂ"@T%}, B={x:x®FWWF@T%}
C={x:x T a0 Whd G&A €} D= {x:x Th A9 G &), Frefafe
Eﬁ‘clﬂﬁl"l:

i) AnB i) ANC (i) ANnD

(ivy BNC (v) BND vi) CND

. Trefafed aq=== 3 § 9 % 9 39 AEgw 87

() {1,2,3,4) T {x:x % T &N & 3R 4<x<6 }

@ {aeiouldd {cdef}

(i) {x:x T TH YUl B} 3R {x:x TF fawm gl 2}

. Ak A=1{3,6,9,12,15,18,21},B={4,8,12,16,20 },
C={2,4,6,8,10,12,14,16 },D={5, 10, 15,20 }; at f=Afafaad %I Fa Hifea:
(i) A-B (i) A-C (i) A-D (ivy B-A

(v) C-A (vi) D-A (vii) B-C (vii) B-D

(ix)y C-B (x) D-B (xiy C-D (xii) D-C
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10. 9 X={a b, c,d} IR Y={F b, d g}, T=feiad & Fa Hifsa:
() X-Y (i) Y-X (i) XNY
11. 9fg R emfaes Senst ik Q uidg wemeti o wq==d €, dl R — Q &1 &1 ?
12. =y fo fefafea sem § @ gois 9o @ 91 3?3194 S9 1 Sfifee o
CRIEL
() {2,3,4,5} 7 { 3,6} TEIH =4 &
G) {a eiou}dN {ab c d}>HIHE T== B
i) {2,6,10,14 }de {3,7, 11, 15} /g == 2|
(v) {2,6,10} e { 3,7, 11} &g == 2|

1.11 ¥q==rd <kt YTk (Complement of a Set)

M oS for weft ervsa Semeti 1 gt wqesa UR 9 A, U o1 98 STeq=ed
2, foad 3 |l 9w et € S 42 1 e 8T 81 6 YR A= {x:xe USSR
X WA 42 1 WISTh el )1 W 2E@d © TR 2 UTeh 2 ¢ A, #Hifeh 2 | 42
Teh 9ok B T YR 3e UTehg 3¢ A, 921 7e UTehg 7¢ A 1@ ohaet 2, 3 de
7€ Uch U0 ofaad € S AT 7€t €1 31 3 19 Sl & e Stuiq gy
{2,3,7},U o WA 1 b Heed el 2 3R 38 Tdieh A’ 9 Frefua foran st
B A’={2,3,7} SUTFR A @I € fF A’ = {x:xe U3R x¢ A} 1 308
frefafiad gt o et 8

uftarer 8 WM ifS for U U s aqeaa ® 3R A, U &1 0% ST8q=ad 8, dl
A 1 Tk Gg=F U 39 STagel 1 9= €, S A o 1add Tél €1 ekl
U T Ush Al A o Tk 1 T A’ ¥ frefud ed €1 e/ A= {x:xe
UR xe A} ©9 for@ ohd 81 A=U-A

2 T T ASh & T==a &I, foaeheua:, SEle Iq==a U den 9= A
% 3 oh &Y H @1 W Gl

FETET0T 20 HH efifSe fF U={1,2,3,4,5,6,7,8,9,10} I A={1,3,5,7,9} & a
A’ Fd HifSu

T B9 NE L © ohadd 2,4, 6,8, 10 B U UH @¥d © S A H & B
A A'={2,4,6,810).

SETEY0T 21 AH efifse fod U te we foren fommerm o wanm X1 @ft faenfni o1
it Tq==d € SR A, el X1 1 Gl wefnal o1 Teed @ 9 A’ 96 it
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&1 iR A, el X1 Gt eigfenal o1 T==d €, 37d: A’ TISaal el o T TTSehi
1 T 2
| frouit | afx A wrdfE T U 1 U STee 2, o T T A7
U &1 T I9&q==9 el 2l

H: STYE IJEI 20 H,

A ={2,4,6,8,10}
I (A ={x:xe UsiR xe A}
={1,3,5,7,9} =A

e T 1 IR @ o € T adfye gqea U o Tl Suagesa A
& faw (A = A

o1 FrfafEd 330 °§ 9 (AU B) @1 A’ N B’ & ga |

FEMETOT 22 HE efitee fF U ={1,2,3,4,5 6}, A= {2 3} 3K B={3,4,5},
A,B’, A "B, AU B[ ®ifsy 3R i fog wifst f6 ( AUB)Y =A’N B

T oA A’ = (1,4,5,6),B'={1,2,6}1 3@: A’ "B’ ={1,6}

TH: AUB ={2,3,4,5} 2 s@felq (AUBY ={ 1,6}

(AUBY ={1,6}= A" NB

79 YR B WA © T (AUB) =A’ "B’ I8 fag e s e @ for swde
RO S w9 W T Bl ® ARG A SR B WeiiTn Gqeed U h hig & SUETEEd
g, @ (AUB)Y =A’"B’. 38l ¥R (ANB)’ = A’ UB’ 37 9RomHl = 3= § 39
ThN ST U B

g el o WIEer 1 Qe S [ qY=adl o1 WETS el @ ael <l

Y=ol o WS 1 Teh 7ok Tk Tl
WWW%I" E:I'clﬁ DeMorganéﬁ o A
I wed 2

2I"E?:lTl:[‘Ti'\UI?IETDeMorganéb‘ﬂTl:[TTI'{T@TTI'QT%I
frdt I==a ASh T A’ 99 W@ gN Fefua
fope ST Wehel € S Tk emmeRfa 1.10 W Wi 21
BEAeRd W TH==d A o W A’ i g9l B HFIT1.10
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T & /D T[0T
L9 M ) AUA =U ([)ANA =0
2. De Morgan &1 7919 : (i) (AUB) =A’NB’ (i) ANB=A"UB’
.71 fom s (A=A
4.0’ RU S FEm : ¢’ =U 3R U =9.
2 a1 Searae 99 @l g feRen S Heha @

1. 9H oifse s U=1{1,2,3,4,5,6,7,8,9},A ={1,2,3,4},B={2, 4,6,8 } 3R
C=1{3,4,5,6) @ f=fafea 3@ *ifa:
M A" ()B (i) (AUC)Y (iv)(AUBY (V)(AY (vi)(B-CY

2. ¥U={a b, cdef g h) a Hafatad ag==di & Th TG HifaT:
i) A={a b c} (i) B={d e[ g}
(i) C={a c ¢ g} (ivy D={f g h a}

3. UIohd HEAel o U=ad ! WEe SH=ad AHd gu, Fefafed a==ai o
fafau:
() {x:x T Wihd GH HE&A B} (i) {x:x T Wieha T G B}
(i) {x:xT@M 3 B TH o9 [N B} (iv) {x:xTH AT G B}
(v) {x:x 3 3R 5 @ fauifea g9 ol ok " 2}

(vi) {x:xT& qoi =i GE 7} (vi) { x:xTH qoi o[ HeE 2
(viii) {x:x+5=8) (ix) {x:2x+5=9)
x) {x:x>7) (xi) {x:xe N32x+1>10)

4. aE U=1{1,2,3,4,5,6,7,8,9 },A={2,4,6,8 IR B={2,3,5,7}, @ GeAri
aﬁﬁqﬁs:

() (AUBY=A"NB (i) (ANBY=A"UB
5. ffafed 9§ 9 y&® & fau ST oF om@ difau:
G (AUBY (i) A’NB Gi) (A N BY (v) A UB

6. H Wit fop fopelt wmaer o feoa el Biygsil 1 == wEten 9q==9 U 2|
I AST Geft B o1 g € 50 9 9 w9t #0600 fi= 7,
A R?
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7. fTr=fafea oA = 99 99 & foau o o & afw:
i AUA =... i) ¢ NA=...
(i) ANA =... iv) UnNnA=...

1.12 < 9ieoEl o Gfmed ofi wdf s W enuria saetie w9
Practical Problems on Union and Intersection of Two Sets

Test % SRS § €W 9 G & wiwer, TefTS @ o % AR § WrE 9% 8
T ATR] § oH A Wfdfed o Sied 9 Hwaf-ea
T T F WA HU 3 s § wa g o |U

IRT 3 3T 9Tl ST, S Wil (ST 16)
T off forar <o Q
() WH =it fF A @R B it wq== ?1 Afg

ANnB=g¢,d (AMB)
n(AUB)=n(A)+n(B) (D) ———
AUB® 3fe@d Al AY € A BH € W aHl

o & €, s AN B =¢. 37d: RO (1) dehTel 9 erdl 2|

(i) =9h ®9 W AR A R B uRfHd gq==a €, Wn(AUB)=n(A)+n(B)

~n(ANB) . (2)
A HITST foF Tg=s9 A—B, A N B @1 B — A 3ge & 3R geh1 WiHed A UB
2 (STefd 1.11)1 @y

n(AUB) =n(A-B)+n(A NB)+n(B-A)
=n(A-B)+ n(AmB)+n(B-A)+n(A NnB)-n(A nB)
=n(A)+n(B)=n(A AB), s IR0 (2) 1 Feafud i 2|
(i) T: A A, B 3R C uRfqa wq=== €, i
n(AUBUC)=n(A)+n(B)+n(C)=n(A "nB)-n(B NnC)

-n(AnNnC)+n(AnB nNC) ... 3)

Id | 79 T ? TR
n(AuBUC)=nA)+n(BuC)-n[AnNn(BuC)] [ (2) s ]
=nA)+n(B)+n(C)-n(BNC)-n[ANn(BuC)] [ (2)s]

FifF A N(BUC)=(A NB)U(A nC),sd urd &l & &
n[A N(BUC)l=n(ANB)+n(ANC)=n[(A NB) N(A NCO)]
=n(AnB)+n(AnNnC)-n(AnB nNO
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26 TIUT@

#F: n(AuUBUC)=n(A)+n(B)+n(C)-n(A NnB)-n(B N0
-n(A nC)+n(A nB nC)
4 gR o (3) fag gsm

SEETOT 23 AR X AR YR W W= € fF X U Y H 50 eme ®, X A
28 T © AN Y H 32 Fo@a B, @l X N Y H T sraga €72

T fem 2 fF n(XUY)=50,n(X) =28, U

n(Y)=32,n(xNnY)="?
T nXuY)=nX)+n(Y)-n(XNY)H Q
T gR €9 dEd € R

nXNY)=nX)+n(Y)-n(XUY) (XAY)
=28+32-50=10
foreheaa: T AT fF 0 (XN Y )=k @ MR e 1.12
n(X-Y) =28-k,n(Y-X)=32—k(3Hd 1.12 o a1 3IRG gN)
T @ 2 fF 50 =nXuY)=nX-Y+n X NY)+n(Y-X)
=28 -k +k+(32-k)

31d: k =10.

SETET0T 24 U foamed o 20 sreamaess & S Tiv @ sifaes! T €1 e 9 12 T
e B 3N 4 wifdent S T SHT i TeW ¢l fhae steen difaen! Ye 22

T T S for M S STeATeh] b1 W== e il €, S o e © 3R P
I AT k1 G FEfd i 8, S ifaer Ter &1 g6 ueH o e § o7 ol
I ‘' 9§ WieE du g ‘3R | el o1 Hehd fherdl @1 @l
n(MUP)=20,n(M)=123R n(MNP)=4
B 0 (P) I HE TR
O™ n(MUP)=n(M)+n(P)-n (MNP), & FM gN,
20=12+n(P)—4
3 n(P)=12
AU 12 AT AidH! IS B

SETETOT 25 35 fomnfefai 1w wen o, 24 fohohe Wor W Y § 3R 16 A
W THE HId B 3Heh AT Yoieh faenefl &1 ¥ %7 Th W 1Evy Wl 9He
Tl 8| forae forenedt fifche @IR Heare SH1 Qe w6 i €7
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o1 U lifoIe for fomehe @er T6E e o1l Toenfefal 1 aqeea X 1 | st fo
el ol THE i ool Tl o Teed Y ©1 6 YR X U'Y $9 famfia
HT T 8, S FH W FH TH T T89S FW & IR X NY 37 fomnfla w1 age—a
2, S S € Wl W 9EE i B
e fd n(X)=24n(Y)=16,n(XUY)=35n(XNY)=?
T nXuY)=nX)+n(Y)-n (XNY), o T g, 80 T Hd 2|
35= 24+16-n(XNY)
@, 2 (X NY)=5
1orfq 5 fammeft S B Ger 76 w2
a0 26 foRdt ThA o 400 faenferi o5 waaor | 100 faeneff @& 1 W@, 150
fereneft Sl o1 T ST 75 foreneft S qen e ST 1 T T oel WY S €1 Shifey
fo fope foreneff 7 @ 99 &1 W@ 94 € &R T @ w1 &2
7ol °H S for U wderor fory o fernfelei o aq=aa 1 frefud ot 81 qen A
e 1 W 19 ol R B H@ 1 W 0 Al faenfefal o wqeeal @i el s
21 39 TR n (U) = 400, n (A) = 100, n (B) = 150 3R n (A N B) = 75.
3 n (A’NB) =n(AUB)Y
=n(U)-n(AuB)
=n(U)-nA)-nB)+n(AnB)
=400 - 100 - 150 + 75 =225
ad: 225 foeneff 3 @ ¥ #1 R T HR F W d
SETETOT 27 200 FARK R = I 9 difed B, T 120 =@fR WA C, 50 At
TRA C,, ¥R 30 =fe WA C, 3R C, 3 & & waifea g0 €, @ T =fw =it
& A SifSC S gefad gu 8l
() WA C, fog e C, ¥ e,
(i) @A C,fog wrA C, ¥ 7@,
(i) TEEA C, 31eE WEE C, ¥ wfeq gy &l
&1 UM ofifee for U, = I @ difed safeal o et ayees i fefud s €,

A, WA C, ¥4 gifad sAfeal o Tq=a4 %! qe1 B, WEA C, ¥ gHiferd =feraai =
T I el U 2l
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28 TIfUIG

T W n(U)=200,n(A)=120,n(B)=507 n(ANB)=30
() T gu a7 oM@ (emehfd 1.13) o &9 <@d § T
A=(A-B)U(ANB).

o n(A) = n(A-B)+n(ANB) u

(FifeF A—B) 3R AN B g )
AYNM n (A-B)=n(A)-n(AnB)= Q

120 -30 =90
F: WA C, fohg WA C, ¥ et wefer e (ANB)
I & 90 T 3MeRfa 1.13
(i) 3mHfd 1.13 B = (B-A)U(ANB).
zHfaT n(B) = nB-A)+n(ANB) (i A—Ba A—B HGTH 21)
YA n(B-A)=n(B)-n(AnB
=50-30= 20

o WrA C, féhg Wrd ¢ 9 T yeifen safwE w5t wen 20 2
(iii) T C, HAYe WEA C, ¥ iferd sAferqal ht WeA sreiiq
n(AUB)=n(A)+n(B)-n(ANB)
= 120 + 50 - 30 = 140.

1. afg X &t Y= td "ge=d ® f% n (X ) =17, n(Y) =23 qel
n(XuY)=38dn(XNY) A@ Hifq)

2. AR XM Y F W agema 8 o XUY # 18, X W8 3R Y H 15 3fd i,
@ XNY ¥ fora staga gii?

3. 400 =AfFaal & @ge |, 250 f&t qen 200 S St Ghd B1 fohae =afem &
T SIS S el Hehd &7

4. ARSI T I WA € fF S H 21, TH 32 IR ST # 11 31999 &,
W SUT ¥ fohad saaa si?

5. AR X SR Y At Ogesm B fh X W40, XUY H 60 3R X NY ¥ 10 7od
g, @Y H fhar sraaa =i

6. 70 AfaEl o TS |, 37 HIGT, 52 I THI Hd & AR Yok <A A § 9
FU 9 FH TH 9T TES w1 €, A fmad sl il SR W@ <Al R TS
F &7
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7. 65 AfFEl o THE |, 40 =AfH fhohe, 3R 10 =Afe fopehe den A <41 =1
TR A €, dl Tere SAf sheret 2 Rl TR e € fohg fepehe w1 T2 TR
wfe If 1 TEE w7

8. Tk HUA H, 50 Al %, 20 AfF WY R 10 =Af T SR = <
& Al 1 didd ohd 7| foRds safe = <1 &) st § 9 9 9 FH Tk 9
et TR &7

fafaer 3crgvur

SamEtor 28 fRErn f & “ CATARACT ” & aul fa=amd of 31ei o1 9q=ad qel
3 “ TRACT” o auife= o eR o1 == @M 2

&1 °M ST & X “CATARACT” & 1ol &1 Oq== €,
X={CATARACT}={CATR}

M ifSy i Y “ TRACT” & @1eRi =1 9q==4 €,
Y={T,R,A,C}

Fifer X 1 Y% Fogd YH € a0 Y H1 Yk 39Fd X H €, o X =Y

SETE0T 29 9= { —1,0, 1} °F 9 U=l &1 g aA=y

T UM A={-1,0, 1} ¥ =99 A 9 U= 5@d H1g ff raa TE © o
= ¢ Bl A o T 3o Al SuEg=a {~1}, {0}, {1} ¥ A% < EFd o
= { 1,0}, {=1,1},{0,1} &1 A o 9 e7age oTell STHT==4 A ¥ 2| 36 TR
Ach |l SwEg= ¢, { -1}, {0}, {1}, {=1,0}, {-1,1},{0, 1} @1 {-1,0, 1} B
sarETor 30 fag ST ff AU B= AnB&I acwd @ 75 A=B

T AR HIE AITT ae A, @ ae AUB. HfF AUB=A N B, @M
ae ANB. 3@: ge B. YR Ac B. 36 YR K be B, @ be AUB. if®H
AUB=ANBZATL, be ANB. 39 YR be A.3d: B c A 3AUIA =B.

SEE0T 31 9=l A, B & fau fag wifs f6
P(ANB)=P(A)nP( B).

7ol 7F oo fF Xe P(ANB), @ X< ANB. 39fdt X e P(A)den Xe P(B), S
areqd g3 fh X e [P(A) NP (B)]. 38 &R P(ANB)c[P(A)NP(B)]. AF dife@
% Ye [P(A)NP(B)], @ Ye P(A)@ Ye P(B), 39 %K Y A 3R Y B.
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30 T

T Yc A B, @t @@ € f6 Ye P(A N B), 3@ [P(A)NP(B)]
cP(ANB),3@: P(ANB)=P(A)NP(B).

SETETUT 32 Teh ISR TG TU8 A 1000 SYHRstl 1 Gelequr feman 31k gfea faman
o 720 IUAENST 7 IR A TN 450 TSNS 7 AR B THE fohanl 1 IR i
TGS I AT ST H AT G F 7?2

T A offST fiF U wderor susdieiell o1 Sq== 2, S 39 Sudes & q9=ud §
e IeE A TEE fohal 3R T 39 Susisriei o1 gy== ¢ =i Scae B 9 fohan|
fen 2 7,

n(U)=1000,n(S)=720,n( T)=450
YRR n(SUT)=n(S)+n(T)-n(SAT)

=720+450-n(SNT)=1170-n(SAT)

e B n(SUT) etfesman @d B 56 n (SN T) A 8, g SUT < U,
et @ B 6 n (SUT) <n(U)=1000 | 8 YHR n (S U T ) Aferhan
A 1000 &1 THRAT 2 (S AT ) 1 =8 AA 170 {1 27d: I SR shi TGS HLA
ol SuNieRIA ® <FaH e 170 2

TEMETOT 33 500 R Hifcreh] ¥ IS T 9 IR T foh 400 AT A THR i FR
%, 200 T B TR T %R o 9 500 @M A 3R B <l TR &1 R o Alferk &)
F 4 3Mine TS B2

&1 9 Wity foh godars oy 1T R Akl 1 @geed UT, A WhR i SR o HifcTshi
%1 Gea M € 3R B YR 1 FR o Hifcish! &1 9= S 2|

R & n(U) =500, n(M)=400,n(S)=2003R n(SAM) = 50.

39 JohX n(SuM)=n(S)+n(M)-n(SnM) =200+ 400 -50=550
fohg SUM c U fomen areqd @ T n(SUM)<n(U).

e U feaidife 21 31a: UeW Siiehe Wl el B

SATETUT 34 U WRlgEed § hedd & fau 38, aehe ol o fag 15 3R fwene
& fom 20 W M T MU AT T U_F FA 58 A Kl A R Haa I A
1 A el o foae fier, @ fha @ @l 1 | 9 S-S |1 Tl o o fiel?
&1 9 fifST fF F, B @1 CS7 @i o 9q=ad fefud otd 8 i< wa9: geam,
dehedTdl de foehe o faT ueer el
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&l n(F)=38,n(B)=15,1(C)=20, n FUBUC)=58 3R n(FNBNC)=3
T: nFUBUC)=n(F)+n(B)+n(C)-nENB)-nFENC)-nBNC)
+n(FNBnN C),

IR n(FNB)+n(FNC)+n(BNC)=18

3T 1.14 ® fGU a9 @ W fo=m Hifsm: U
Tl ¢ 37 Arll 1 G 7, ! Sheed feara a | F A‘ B
STEheaTe o T Tesk e, b9 @l i we ¢, 906

ST el Fearel e fhde & foT Tew e .

AR ¢ 3 M HI &AM ¢, Tl Sherel e ¢
N fohohe o foTT wesh fActl 439 @t 1 Sen @ MR 1.14

el il € mal o fay uew el 39 YR d=n (FAB N C) =3 3R
a+d+b+d+c+d=18

A a+b+c=9, H T AN w1 gen €, foerl A Tl § ¥ @Al ok forw
e el

e 1 G fafaer gonaet

1. Frefafad aq==a § 9 ®F fHas soag== 2, T9@ fof S
A={x:xe R @M x2-8x+ 12 = 0 F TIL HT dcil Ift Frafaeh
@l x ), B={2,4,6}, C={2,4,6,8,...},D={6].

2. T wite o frefafad § @ goie S 99 © 91 39 81 9 9 ®, 9 39
fag wifv = erme €, 9 T seE e
(i) af€ xe AT Ae B, xe B
i) IR A cBAMBe C,q Ae C
(i) I AcBa@am BcC,d@ AcC
(iv) I AgBaM Bz C,d@ Az C
(v) 9 xe AT Az B,d xe B
(vi) IR AcBAAM x¢ B, @ x¢ A

3. 9H oifST A, B, $iR C 0 ¥9=wd € ff AUB=AUC TN ANB=ANC, @
geisy f& B =C.

4. feamu f& fafafaa =) gfaEy goa 8
(i) AcB (i A-B=¢ (i) AuB=B (v AnB=A
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Tfora

femee fo aff AcB,@W C-BcC-A.

6. T wifsw fF P(A)=P(B), fag =ifslw f&F A=B

10.
11.

12.

13.

14.

15.

16.

fopeel «ft wg==al Aen B o forw, oo 7€ ¥ © T
P(A)UP(B)=P(AUB)? 3 SW & 3fifae sa=u)

fF=t < ag==a Aden B & foru fag ifsu s,

A=(AN B) U(A-B)3RAU(B-A)= (AUB)

Y=gl o Ul T GAR ok 95 i fh:

i) AU(ANB)=A (i AN(AUB)=A.

fe@emee fF ANB=ANC % a@d B=C 3avd® &9 9 & 8l 2

A efifsr fe& A it B @g==a 71 afs fadl gg=aa X & fag
ANX=BNnX=¢dM AuX=BuX,d fag Fifst f& A=B.

(FFd: A=AN(AUX),B=Bn(BuUX) 3R faqo f=m =1 w@im sifsw)
T T A, B 3R C 91 #IfST @f A N B, B N Ca& A C e ==
g R ANB N C=9¢.

TRl foamem o 600 forenferl o6 Faeor & T gaW foh 150 formefl =, 225
femneff 7T qen 100 foneff =@ iR wiE <A WA ¥ T wifEC e
famneff = @ =@ did € iR T HIE 9 2

fornfoai o6 Wk wE #, 100 foenef f&t, 50 fomneff siush qen 25 fomneft I
et 1 ST €1 faenfefal § @ g a1 A B A St S #) 9ug A w1
fepe fermmeff &2

60 T o FeleToT | 9@ 741 TR 25 @ HER 99 H, 26 @ 9HER 99 T, 26
AT GHER 9 [, 9 @M OH dem [FA, 11 @i H qen T I,
8 @ T @2 1 2F1 31X 3 & A1 € 99=r o ved ®, af fefiead i S
() +H ¥ FH T TUER T U ddl i qe&|

(i) 3SH-IF Fad Tk THER T T el i GE&|

T FAHU H R T foR 21 AN SR A, 26 @RT IIE B, 29 @R IeE C THe
F 21 AR 14 T SEE A G B, 12 @M SIS C A A, 14 & ScAIE B ae
C 3R 8 & 1 &) S 1 THE I B 1A IS o foha & sherel ST
C %! 78w &
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qrIST

T S § G 9 Tefid 9 gud qRermet sk gikaret w faer fme
T 21 e wr e e 2

L
L
L

L
L

T e a3l 1 R e e €l

T T e wh ot st el g €, Rew S e 2l

ST SYAffia g== e 2

T =T A 3R B GUF FEAW € A€ STH qeAd: g9 Fegd gl

Tk e A el aeee B o1 SUMHEEA el €, 97 A S Yo 16ed
B &1 o 319@d el et Fg==d R & SUGH== el &

forelt T=e A1 oTd S A oh Gl SUHI=El %1 WU el e

| T A IR B 1 GiHer S G el 1 aeed g € S A dl A
HE @B H

< eI A 3R B 1 GalS 39 Gl foel b1 gy=ed Bl € S A 3 B
T A TS B 1S e A IR B 1 SR, S AT B TE %A A @,
3 qeft sragel 1 9= ®, St AH ©f fohg B ® i =

Al 9 9g=ma AT B faT, (AUB)Y =A’NB’ A (ANB) =A" UB’
Ifg A @R B Ut ufifd "qe=a & f6 ANB=¢, ,
n(AUB)=n(A)+n(B) 3R

IE A "B =0, d

n(AUB)=n(A)+n®B)-n(ANB)

AT gEyfr

SHA T Georg Cantor (1845 % - 1918 30 ) i 3MyfTeh T==a fagia =
ATUHTIT AT hT AT | Sl €1 T FfHgid T Sok Ie 0 1874 % 9
1897 %o o o= oh fohell UHA H Yh H ST 371 G=ad FGId &1 31737
WW@@TW&alsinx+azsin2x+a3sin3x+...aw‘@aﬁﬁﬁlﬂﬁﬁﬂ'{{ gt
I I P @ U

18743 | 3194 Teh ¥MY 9 § I8 Yeniivrd fohen for amxfass dweneti =i

Uit} & T TH-TF T § e W@ S ek 81 1879 % % Iawd H onpd
=gt o fafi= quremt i 9 arel Sk e Y U YR gul
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34

Tfora

Cantor o ¥MY &I Uk 14 fow@ma 7foras Richard Dedekind (183 13-
19163) 3 WIET &1 9 WieR f&an afed Kronecker (1810-1893 o)
STIRMAT T==al &, IH Y&R ¥ oF o fau 59 yeR Rkfbd aq===i &t fan
ST &, k! STHHAT 11 T SER STHA TGS Gottlob Frege ¥ ¥IaTssl &1 Haf
R == THgiq &l TR o FEml o ®9 ¥ 9%qd R 39 999 d 9qu
=4 91 et a=adi oh Gg=ad oh AR hl Hheddl T ARG a1l I8
foeama o1 Jfifeh Bertand Russell (1872 3.-1970 30) & fS=gi7 1902 % ®
Faarn fob gt Iyl o Tead o I i heudl Uk foiifaa & 5=
=il %I 39 YR Russell i fa=am foienfea faettl Paul R.Halmos = 3’835 IR
o @9 T&i ‘Naive Set Theory’ § foran € o “‘m =& o @a oo wied 2"

T 9t forenfaaal o qRomTEEY aq==a fagid &1 gear AR
1908 %> H Ernst Zermelo R WehTf¥rd fomam =11 1922 % H Abraham Fraenkel
el Th SHU 9&d i fgam 1925 2 d John Von Neumann 3 fafadienor =
SR T &9 9 gd fRA1 38 a1% 1937 %o # Paul Bernays ¥ S=iisieh
srfEifaseor wega fohan 39 ifeidl ® guR, Kurt Godel SR 1940 3o | 31oH
AHTE | A a1 71 36 gUR H Von Neumann-Bernays (VNB) 372r@1
Godel-Bernays (GB) =1 ¥q== fagid ®ed 2|

37 |l FfcEal o SN, Cantor o GH=ad TG I SHH &I oh
g § YA TR S R orde § SAISiehel UM b SIURIST Heheurd dqer
RO ! T Ygifaer 9o H WEd i 2
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